Econ 1102: Practice Problems 3 Solutions                                                                                        ©Gina Pieters 


Practice Problems 3
Q1.

	Example
	GDP Change
	Reason

	1. The government pays $800,000 for a plot of land to build a new high school.
	$0
	Fails 2

	2. A business pays $1.2 mil for land to build a new office building
	$0
	Fails 2

	3. A business builds a new office building worth $2 mil.
	+$2 mil 
	Included

	4. Toyota builds a car in USA, then sells it in Mexico for $40,000
	+$40,000 
	PRODUCED in USA


Q2. ($80+$60+$40)+$60-$40=$200
Q3: 
	Year
	Nominal GDP
	Real GDP
	GDP Deflator

	2005
	10*5+25*10=10+60=300
	15*5+25*10=75+250=325
	(300/325)x100=92.31

	2006
	15*10+25*8=150+200=350
	15*10+25*8=150+200=350
	(350/350)x100=100

	2007
	12*20+30*15=240+450=690
	15*20+25*15=300+375=675
	(690/675)x100=102.2


Q4. See lecture notes
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